117

RASENLUFTER 76 cm
@ Art. 78713
Mod. 224 Bauj. 94/95

Y1z
R

7T
[

i
i
;

27
7

Lo
o
i

Brill-GARTENGERATE GMBH * POSTFACH 3161 * D- 58422 WITTEN

POS. BEST.-NR. BEZEICHNUNG Stck || POS. BEST.-NR. BEZEICHNUNG Stck

REF.NO PART-NO. DESCRIPTION Qty. | [reF.NO, PART-NO. DESCRIPTION Qty.
POS. NO.PIECE DESIGNATION Qte. || POS. NO.PIECE DESIGNATION Qte.
1 [GB 23901 ABDECKUNG 78713 94/95 1 17 |GB 710-0514 |SKT-SCHRAUBE 3/8" 2
2 |GB 23900 LUFTERSTERN 15 || 18 |GB 736-0169 |FEDERRING 3/8 2
3 |GB 45148 DISTANZSTUCK 30 || 19 |GB 43070 SCHEIBE 3/8 2
4 |GB 23902 ACHSE 1 20 |GB 43082 SKT-STOP-MUTTER 3/8-16 4
5 |GB 23903 SEITENPLATTE 2 21 |GB 23906 ACHSLAGERHULSE 2
6 |GB 45187 FEDERSTIFT 1/4x2 LG. 2 22 |GB 43182 SKT-SCHRAUBE 5/16-18X3/4 2
7 |GB 43182 SKT-SCHRAUBE 5/16-18X3/4 8 23 |GB 43063 SCHRAUBE 5/16" 4
8 |GB 43064 SKT-STOP-MUTTER 5/16 8 24 |GB 44326 SCHLOSSCHRAUBE 5/16-18X1 L3 2
9 |GB 43009 FL-SCHEIBE 25/32" 4 25 |GB 43086 FEDERRING 5/16" I.D. 2
10 |GB 23904 AUSRUCKPLATTE 1 26 |GB 43083 SKT-MUTTER 5/16-18 2
11 |GB 62484 ANHANGEPLATTE 1 27 |GB 23625 DISTANZSTUCK KURZ 2
12 |GB 23905 AUSRUCKHEBEL 2 28 |GB 43343 FEDERSTECKER 1
13 |GB 23914 ANHANGESTEG 2 29 |GB 43943 PLASTIKGRIFF 2
14 |GB 23442 MONTAGEWINKEL 2 30 |GB 43081 UNTERLEGSCHEIBE 5/16" 2
15 |GB 44238 LAUFRAD 2 31 |GB 43064 SKT-STOP-MUTTER 5/16 6
16 |GB 43432 SKT-SCHRAUBE 3/8-16X2-1/2LG 2

RASENLUFTER 76 cm
Art. 78713
Mod. 224 Bauj. 94/95






